

RESEARCH ARTICLE

Economic Impact and Outbreak Preparedness Index of Lumpy Skin Disease in Dairy Cattle: Evidence from Madhya Pradesh, India

Saurabh Sharma¹, R. Hari², Ruchi Singh³, Rashmi Vishwakarma², Sunil Nayak⁴, Priyanka Prajapati², Bhavna Gupta⁵

¹Department of Veterinary Extension, College of Veterinary Science and Animal Husbandry, Nanaji Deshmukh Veterinary Science University, Jabalpur, Madhya Pradesh, India, ²Department of Veterinary Extension, Nanaji Deshmukh Veterinary Science University, Jabalpur, Madhya Pradesh, India, ³Department of Veterinary and Animal Husbandry Extension Education, Nanaji Deshmukh Veterinary Science University, Jabalpur, Madhya Pradesh, India, ⁴Department of Animal Nutrition, Nanaji Deshmukh Veterinary Science University, Jabalpur, Madhya Pradesh, India, ⁵Department of Veterinary Public Health, Nanaji Deshmukh Veterinary Science University, Jabalpur, Madhya Pradesh, India

Received: 22-09-2026; Revised: 25-09-2026; Accepted: 29-09-2026

ABSTRACT

Lumpy skin disease (LSD) is a recently emerged transboundary viral disease that poses a serious threat to livestock farming and the livelihoods of dairy farmers. This study was undertaken to quantify the direct economic losses incurred by livestock farmers due to LSD and to evaluate the outbreak preparedness of veterinary institutions in the Jabalpur and Seoni districts of Madhya Pradesh, India. A cross-sectional, *ex post facto* research design was adopted, covering livestock farmers affected by LSD and government veterinarians serving the study area. Economic losses were estimated from production and expenditure data, whereas an LSD outbreak preparedness index (LSD-PI) was derived from nine preparedness indicators, standardized by min–max normalization and weighted using the analytical hierarchy process. Mortality, treatment, and milk-production losses emerged as the principal components of the economic burden of the disease, together contributing to an average direct loss of Rs. 6345 per respondent and Rs. 854.07 per animal-equivalent, equivalent to a 30.36% reduction in average monthly family income. Veterinary institutions in both districts showed, on average, a moderate level of outbreak preparedness (overall LSD-PI = 0.39 ± 0.16), with biosecurity being the only indicator that differed significantly between Jabalpur and Seoni ($P = 0.025$). These findings indicate that LSD continues to impose considerable socioeconomic hardship on small-scale dairy farmers and that strengthening vaccination coverage, disease surveillance, veterinary infrastructure, and biosecurity measures remains essential for effective outbreak management.

Key words: Biosecurity, dairy farmers, economic impact, lumpy skin disease, Madhya Pradesh, outbreak preparedness index, veterinary preparedness

INTRODUCTION

Lumpy skin disease (LSD) is a highly contagious, poxvirus-induced infection of cattle that has emerged as one of the most economically damaging

diseases affecting the global livestock sector.^[1]

The clinical presentation of LSD includes fever, cutaneous nodules, lymphadenopathy, a marked decline in milk yield, infertility, emaciation, and in severe cases, mortality. Although case fatality is generally low, the high morbidity associated with the disease translates into substantial productivity losses, thereby affecting the economic well-being

Address for correspondence:

Ruchi Singh

E-mail: drruchivet@gmail.com

of livestock-dependent households. The capacity of LSD to spread rapidly across international borders has placed it firmly among the priority transboundary animal diseases.

India has experienced widespread outbreaks of LSD in recent years, with the disease increasingly recognized as a serious threat to farmers' livelihoods across the Indian subcontinent,^[2] most notably during the large-scale 2022 epidemic that affected cattle populations across several states.^[3] Similar transboundary outbreaks, such as those documented in the Balkan region, have illustrated the scale of direct economic cost that LSD can impose on national livestock economies.^[4] In the Indian context, the disease affects farmers through the combined burden of treatment expenditure, vaccination cost, reduced milk output, loss of productive animals, and depreciation in the market value of surviving livestock. These losses fall disproportionately on small-scale dairy farmers, for whom livestock represent both a primary income source and a store of wealth, underscoring the need to systematically quantify the economic impact of LSD. Alongside the assessment of economic losses, the level of preparedness of veterinary health institutions constitutes a second critical determinant of effective disease control. Diagnostic capacity, surveillance systems, physical and human infrastructure, availability of trained veterinarians, adherence to government guidelines, biosecurity practices, interinstitutional coordination, and community engagement jointly determine how effectively a veterinary system can respond to an outbreak. Systematic assessment of these dimensions helps identify the strengths and gaps of existing veterinary institutions.

A growing body of literature has examined the economic consequences of LSD outbreaks in different livestock production systems. In Ethiopia, LSD was shown to generate substantial economic losses driven by reduced milk yield, mortality, treatment expenditure, and lost productivity,^[5] whereas a subsequent study confirmed the considerable economic burden of the disease on cattle producers and demonstrated that vaccination could meaningfully reduce these losses.^[6] Among subsistence livestock keepers in Nigeria, LSD-related losses were found to be substantial and driven mainly by reduced production and mortality.^[7] Comparable patterns have been reported

elsewhere: Mortality and reduced milk yield were identified as the principal drivers of economic loss among Kenyan cattle farmers,^[8] whereas treatment costs, mortality, and reduced milk output were shown to impose considerable economic losses on dairy farmers in Bangladesh.^[9] In Thailand, LSD outbreaks were associated with a marked monthly decline in milk production,^[10] and in Pakistan the disease was found to erode household income and livestock-based livelihoods.^[11]

Parallel to this economic literature, several studies have emphasized the importance of institutional preparedness in disease management. The Infectious Disease Vulnerability Index was developed to benchmark countries' capacity to respond to disease outbreaks,^[12] whereas the Epidemic Preparedness Index incorporated surveillance capacity, infrastructure, institutional capacity, and response mechanisms as core preparedness dimensions.^[13] Robust preparedness systems have similarly been linked to improved outbreak-management outcomes,^[14] with institutional capacity, trained personnel, surveillance systems, and response mechanisms identified as key determinants of preparedness.^[15]

Despite this body of work, few studies have jointly examined farm-level economic losses and veterinary institutional preparedness within a single analytical framework, and such integrated evidence remains particularly scarce for India and for Madhya Pradesh in particular. Addressing this gap is important for designing coherent strategies that combine loss mitigation with improved outbreak readiness. Accordingly, the present study was conducted in the Jabalpur and Seoni districts of Madhya Pradesh, India, with the twin objectives of (i) estimating the direct economic losses incurred by livestock farmers due to LSD and (ii) developing and applying an Outbreak Preparedness Index to assess the readiness of veterinary institutions to manage LSD outbreaks. The findings are intended to inform policy responses aimed at reducing the economic burden of future LSD outbreaks.

MATERIALS AND METHODS

Study Area and Research Design

The study was conducted in the Jabalpur and Seoni districts of the Mahakoshal region of

Madhya Pradesh, India, using a cross-sectional, *ex post facto* research design. The two districts were purposively selected owing to their history of LSD outbreaks. Within each district, two LSD-affected blocks were selected, followed by the selection of villages that had reported confirmed LSD cases.

Sampling Procedure

For the economic impact assessment, livestock farmers whose cattle had suffered from LSD infection were identified using snowball sampling, and case confirmation was carried out through photo elicitation using images of clinically affected animals. A total of 200 livestock farmers were sampled across the two districts. For the preparedness assessment, all government-sector veterinary officers in the selected districts who consented to participate were interviewed face-to-face.

Development of the LSD Outbreak Preparedness Index (LSD-PI)

The LSD-PI was constructed from nine preparedness indicators: Diagnostic capability, reporting and surveillance, implementation of government guidelines, infrastructure adequacy, human resource availability, training and education, biosecurity, interinstitutional collaboration, and community awareness. Each indicator score was standardized using min–max normalization:

$$\text{Standardized score} = (X_i - X_{\min}) / (X_{\max} - X_{\min}) \quad (1)$$

The standardized scores were then weighted using the analytical hierarchy process (AHP), and the composite preparedness index was calculated as:

$$\text{LSD-PI} = \sum (W_i \times S_i), \quad i = 1 \text{ to } 9 \quad (2)$$

Where W_i is the AHP-derived weight, and S_i is the standardized score of the i -th indicator. Based on the resulting composite scores, veterinary institutions were classified as poorly prepared, moderately prepared, or well prepared.

Economic Impact Assessment of LSD

Direct economic losses were estimated from production and expenditure data collected through

a semi-structured interview schedule. The total direct economic cost was computed as the sum of vaccination cost, treatment cost, milk-production loss, and mortality loss:

$$TEC = VC + TC + ML + MrL \quad (3)$$

Where VC, TC, ML, and MrL denote vaccination cost, treatment cost, milk-production loss, and mortality loss, respectively. The mean economic loss per animal was obtained by dividing the total herd-level economic loss by the number of livestock units in the herd.

Socioeconomic Variables

Sociopersonal and socioeconomic information was collected to characterize the study population and its relationship with the economic impact of LSD. Variables recorded included age, educational level, family size and type, land ownership, monthly family income, livestock ownership, dairying experience, milk production, extension agency contact, training received, and exposure to mass media.

Statistical Analysis

Descriptive statistics (frequency, percentage, mean, standard deviation, and standard error) were used to summarize the data. Correlation, regression, and multivariate analyses were used to examine relationships among variables, and the Kruskal–Wallis test was applied to compare preparedness indicators between the two districts.

RESULTS

Socioeconomic Profile of the Respondents

Of the 200 livestock farmers surveyed, the majority were young (25–35 years; 57.5%), had a medium level of education (46.5%), and were male (66.0%) [Table 1]. Nearly half of the respondents had medium dairy-farming experience (48.0%), maintained small herds (40.5%), and belonged to medium-sized (41.5%) joint families (62.0%). Marginal landholding (<1 ha) characterized 84.0% of respondents, and 67.0% reported low monthly family income. More than half of the respondents reported medium exposure to mass media (57.0%)

and medium contact with extension agencies (56.0%). Collectively, these characteristics describe a study population dominated by resource-poor, smallholder dairy farmers who are particularly vulnerable to the financial consequences of livestock disease.

Direct Economic Losses Due to LSD

Table 2 summarizes the mean cost of the four components of direct economic loss on a per-respondent basis. Mortality accounted for the largest mean loss (Rs. 2,635.00), followed by treatment (Rs. 2,284.00) and milk-production loss (Rs. 1,422.66); vaccination cost was negligible (Rs. 3.40), reflecting the low uptake of vaccination in the study area. Although mortality occurred in a relatively small proportion of animals, its economic impact was disproportionately large owing to the high market value of productive lactating cattle.

On a per-animal basis [Table 3], treatment cost (Rs. 709.80) and mortality loss (Rs. 701.86) were the largest contributors to economic loss, followed by milk-production loss (Rs. 441.80), whereas vaccination cost remained minimal (Rs. 1.06). The comparatively modest per-animal losses reflect the generally low milk yields, short infectious period,

and subsistence-oriented dairy production systems that characterize the study area.

The overall direct economic cost of LSD infection, obtained by summing losses from vaccination, treatment, milk production, and mortality, is presented in Table 4. On average, LSD infection resulted in a direct economic loss of Rs. 6,345.00 per respondent and Rs. 854.07 per animal. Relative to the average monthly family income of Rs. 20,893, this represents a 30.30% reduction in income, illustrating the severity of the disease's economic impact on small-scale dairy-farming households and its potential to constrain future investment in animal health.

Preparedness of Veterinary Institutions for LSD Outbreaks

Table 5 compares the nine preparedness indicators between Jabalpur and Seoni districts. No statistically significant difference was observed between the two districts for eight of the nine indicators. Biosecurity was the only indicator that differed significantly ($P = 0.025$), with Jabalpur recording a higher preparedness score than Seoni, plausibly reflecting comparatively better infrastructure and availability of protective equipment in Jabalpur. Because the preparedness scores were derived from a relatively small sample of 30 government veterinarians, this finding should be interpreted with caution.

The composite LSD-PI scores, summarized in Table 6, indicate an overall preparedness index of 0.39 ± 0.16 for the study area, with Jabalpur scoring 0.44 ± 0.17 and Seoni scoring 0.35 ± 0.15 . The difference between districts was not statistically

Table 1: Socioeconomic profile of respondents ($n=200$)

Variable	Dominant category	Percentage
Age	Young (25–35 years)	57.5
Education	Medium	46.5
Gender	Male	66.0
Dairy farming experience	Medium	48.0
Herd size	Small	40.5
Family size	Medium	41.5
Family type	Joint	62.0
Landholding	Marginal (<1 ha)	84.0
Monthly family income	Low	67.0
Mass media exposure	Yes	57.0
Extension agency contact	Medium	56.0

Table 2: Mean cost of variables contributing to direct loss due to LSD infection (per respondent)

S. No.	Type of loss	Amount (Rs.)
1	Loss in milk production	1422.66
2	Vaccination	3.40
3	Treatment	2284.00
4	Mortality	2635.00

LSD: Lumpy skin disease

Table 3: Mean cost of variables contributing to direct loss due to LSD infection (per animal)

S. No.	Type of loss	Amount (Rs.)
1	Loss in milk production	441.80
2	Vaccination	1.06
3	Treatment	709.80
4	Mortality	701.86

Table 4: Direct economic cost incurred due to LSD infection

S. No.	Basis	Amount (Rs.)
1	Direct cost per respondent	6345.00
2	Direct cost per animal	854.07

LSD: Lumpy skin disease

Table 5: Indicator-wise comparison of LSD preparedness between districts (mean±SD)

S. No.	Indicator	Jabalpur	Seoni	Z value	Overall
1	Diagnostic capabilities	0.282±0.24	0.189±0.85	0.387 NS	0.232±0.21
2	Reporting and surveillance	0.492±0.154	0.460±0.166	0.254 NS	0.475±0.16
3	Implementation of government guidelines	0.610±0.169	0.525±0.209	0.294 NS	0.565±0.19
4	Infrastructure adequacy	0.361±0.315	0.346±0.252	0.786 NS	0.356±0.277
5	Human resource availability	0.326±0.282	0.258±0.204	0.586 NS	0.290±0.241
6	Training and education	0.276±0.156	0.206±0.116	0.170 NS	0.239±0.138
7	Biosecurity measures	0.628±0.180	0.442±0.291	0.025*	0.582±0.25
8	Collaboration and coordination	0.439±0.210	0.419±0.224	0.555 NS	0.430±0.214
9	Community awareness and engagement	0.576±0.244	0.373±0.278	0.052 NS	0.468±0.278

LSD: Lumpy skin disease, SD: Standard deviation, NS: Not significant; * $P < 0.05$

significant ($Z = 1.53$, NS), indicating broadly comparable levels of overall veterinary preparedness across the two districts.

Classification of veterinary institutions by LSD-PI category [Table 7] showed that the majority (22 of 30, 73.3%) fell into the moderately prepared category. A higher proportion of low-preparedness institutions was observed in Seoni, whereas Jabalpur had a comparatively higher share of institutions in the high-preparedness category, again likely reflecting differences in infrastructure and resource availability. Given the modest sample size, these classifications should also be viewed as indicative rather than conclusive.

DISCUSSION

The findings of this study confirm that LSD imposes a substantial direct economic burden on small-scale dairy farmers in Madhya Pradesh, with mortality, treatment expenditure, and milk production losses emerging as the dominant cost components. This pattern is broadly consistent with reports from Ethiopia,^[5] Bangladesh^[9] and Kenya,^[8] where mortality and reduced milk yield were similarly identified as the principal drivers of LSD-related economic loss, and with findings from Thailand^[10] and Pakistan,^[11] where milk-production decline and eroded household income, respectively, were highlighted as major consequences of LSD outbreaks. The negligible vaccination cost recorded in the present study reflects low vaccination coverage in the study area, a finding of particular concern given evidence from Ethiopia that vaccination can substantially reduce the economic losses associated with LSD outbreaks.^[6] The scale of income loss

Table 6: District-wise and overall LSD preparedness index scores

S. No.	Variable	Value	Z value
1	LSD-PI score – Jabalpur	0.44±0.17	1.53 NS
2	LSD-PI score – Seoni	0.35±0.15	
3	Overall LSD-PI score	0.39±0.16	

NS: Not significant, LSD: Lumpy skin disease, LSD-PI: Lumpy skin disease outbreak preparedness index

Table 7: Categorization of veterinary institutions based on LSD-PI

Category	Range	Jabalpur	Seoni	Total
Low	<0.232	1	3	4
Medium	0.232–0.563	11	11	22
High	>0.563	3	1	4

LSD-PI: Lumpy skin disease outbreak preparedness index

observed here – 30.36% reduction in average monthly family income – underscores the acute vulnerability of resource-poor, smallholder dairy farmers, most of whom held marginal landholdings and reported low baseline incomes even before disease losses were incurred. This vulnerability parallels observations among subsistence farmers in Nigeria,^[7] where limited buffering capacity against livestock losses similarly translated economic shocks into significant livelihood impacts.

With respect to institutional preparedness, the finding that veterinary institutions in both districts exhibited, on average, only moderate readiness echoes the broader preparedness literature, which consistently identifies surveillance capacity, infrastructure, trained personnel, and institutional coordination as key determinants of effective outbreak response.^[12–13,15] The significant district-level difference in biosecurity preparedness, coupled with the absence of significant differences across the remaining eight indicators, suggests that overall

preparedness gaps in the study area are relatively uniform, with biosecurity representing a specific and addressable weak point. This is consistent with the view that targeted improvements in specific preparedness dimensions, rather than uniform investment, may yield the greatest gains in outbreak readiness.^[14]

Taken together, the economic and preparedness findings point to a mutually reinforcing policy challenge: weak biosecurity and moderate overall institutional preparedness increase the likelihood and severity of future outbreaks, which in turn impose disproportionate economic hardship on smallholder farmers with limited capacity to absorb such shocks. Strengthening vaccination coverage, disease surveillance, veterinary infrastructure, and biosecurity practices therefore emerges as a coherent set of policy priorities for reducing both the incidence and the economic consequences of LSD outbreaks in the region. Matter: Certain limitations should be acknowledged. The preparedness assessment was based on responses from 30 government veterinarians, a modest sample that limits the precision of district-level comparisons and warrants cautious interpretations of the reported preparedness classifications. The economic impact estimates are based on *ex post facto*, self-reported production and expenditure data, which may be subject to recall bias. Future research incorporating longitudinal data collection and a larger, more geographically diverse sample of veterinary institutions would help to validate and extend these findings.

CONCLUSION

This study demonstrates that LSD imposes a considerable direct economic burden on livestock farmers in Jabalpur and Seoni districts of Madhya Pradesh, with mortality, treatment expenditure, and reduced milk production accounting for the bulk of this loss, and with the resulting decline in monthly family income illustrating the disease's disproportionate impact on small-scale dairy-farming households. The assessment of veterinary institutional preparedness revealed a generally moderate level of outbreak readiness across both districts, with biosecurity standing out as the only dimension showing a

significant district-level difference. These findings collectively indicate that continued investment in vaccination coverage, disease surveillance, veterinary infrastructure, and biosecurity measures is essential to strengthen outbreak preparedness and to reduce the socioeconomic burden of LSD on smallholder dairy farmers.

AUTHORS' CONTRIBUTIONS

Saurabh Sharma and Hari R. conceived of the presented idea and applied the methodology. Saurabh Sharma developed the theory, conducted data collection, performed the computations, and wrote a draft. Ruchi Singh supervised the research, writing correction, and methodology. Rashmi Vishwakarma, Priyanka Prajapati, and Bhavana Gupta reviewed the writing up. Sunil Nayak provided guidance throughout the research process. All authors discussed the results and contributed to the final manuscript.

FUNDING STATEMENT

This research did not receive any specific grant from funding agencies in the public, commercial, or not-for-profit sectors.

DATA AVAILABILITY STATEMENT

Data associated with this study will be made available by the corresponding author upon reasonable request.

DECLARATION OF COMPETING INTERESTS

The authors declare that they have no known competing financial interests or personal relationships that could have appeared to influence the work reported in this paper.

ACKNOWLEDGMENTS

The authors gratefully acknowledge the livestock farmers and veterinary officers of Jabalpur and Seoni districts for their participation in this study.

REFERENCES

1. Abera Z, Degefu H, Gari G, Ayana Z. Review on epidemiology and economic importance of lumpy skin disease. *Int J Basic Appl Virol* 2015;4:8-21.
2. Kumar N, Tripathi BN. A serious skin virus epidemic sweeping through the Indian subcontinent is a threat to the livelihood of farmers. *Virulence* 2022;13:1943-4.
3. Mathivanan E, Raju K, Murugan R. Outbreak of lumpy skin disease in India 2022 - an emerging threat to livestock & livelihoods. *Glob Biosecur* 2023;5:2-8.
4. Casal J, Allepuz A, Miteva A, Pite L, Tabakovsky B, Terzievski D, *et al.* Economic cost of lumpy skin disease outbreaks in three Balkan countries: Albania, Bulgaria and the former Yugoslav republic of macedonia (2016-2017). *Transbound Emerg Dis* 2018;65:1680-8.
5. Gari G, Bonnet P, Roger F, Waret-Szkuta A. Epidemiological aspects and financial impact of lumpy skin disease in Ethiopia. *Prev Vet Med* 2011;102:274-83.
6. Molla W, De Jong MC, Gari G, Frankena K. Economic impact of lumpy skin disease and cost effectiveness of vaccination for the control of outbreaks in Ethiopia. *Prev Vet Med* 2017;147:100-7.
7. Limon G, Gamawa AA, Ahmed AI, Lyons NA, Beard PM. Epidemiological characteristics and economic impact of lumpy skin disease, sheeppox and goatpox among subsistence farmers in northeast Nigeria. *Front Vet Sci* 2020;7:8.
8. Kiplagat SK, Kitala PM, Onono JO, Beard PM, Lyons NA. Risk factors for outbreaks of lumpy skin disease and the economic impact in cattle farms of Nakuru County, Kenya. *Front Vet Sci* 2020;7:259.
9. Chouhan CS, Parvin MS, Ali MY, Sadekuzzaman M, Chowdhury MG, Ehsan MA, *et al.* Epidemiology and economic impact of lumpy skin disease of cattle in Mymensingh and Gaibandha districts of Bangladesh. *Transbound Emerg Dis* 2022;69:3405-18.
10. Vinitchaikul P, Punyapornwithaya V, Seesupa S, Phuykhamyingha S, Arjkumpa O, Sansamur C, *et al.* The first study on the impact of lumpy skin disease outbreaks on monthly milk production on dairy farms in Khon Kaen, Thailand. *Vet World* 2023;16:687-92.
11. Saqib SE, Yaseen M, Visetnoi S, Ali S. Epidemiological and economic consequences of lumpy skin disease outbreaks on farm households in Khyber Pakhtunkhwa, Pakistan. *Front Vet Sci* 2023;10:1238771.
12. Moore M, Gelfeld B, Okunogbe A, Paul C. Identifying Future Disease Hot Spots: Infectious Disease Vulnerability Index. Vol. 6. California: Rand Health Quarterly; 2017. p. 5.
13. Oppenheim B, Gallivan M, Madhav NK, Brown N, Serhiyenko V, Wolfe ND, *et al.* Assessing global preparedness for the next pandemic: Development and application of an Epidemic Preparedness Index. *BMJ Glob Health* 2019;4:e001157.
14. Maruta T, Moyo S. Impact of pre-COVID-19 epidemic preparedness on the trajectory of the pandemic in African countries. *Afr J Lab Med* 2022;11:1571.
15. Gawad M, Iversen BG. Factors Impacting on the Preparedness Ability of a Country. Oslo: Norwegian Agency for Development Cooperation (NORAD); 2021.